MET 220 W/ 2 | Jehy Budles

CJ/\OLGM
) 1= ﬁ% oty (25 Gection f\ = T A= Tz = 090 i
Ad=301~ "( Y
F=pxd = 1uy P5ig K 700,86 (n

F=loug th @ 114 pgy

\0) Given

Hei Hoflcnxr Wt =g Mm
C‘yld\&n(u\ Yonh < Gpe mm
VOWE = 75

P=F = F-a
Py
Yind Avelue;  A=Tr 42 T"x(75»~h)
A= LUIZE 3 nm ~14Lll8E 3 M PR (c)
Vw’%u(e ot BezHem'\(&) /,Crv;’::l
V= Yvacer r = 1.8 XL BA [,&
R=17.(5% "Wn= T
F=RA | B N @=TN
Y= \7.05€ W YYLUITES M F60 &)

F=C.or19 W - _
chf {o 0fen valve ‘,L*q:.&d\ =
=C —Csma—I

I k25t — FoonekCLLSM =C
2

W to ofen Vol ¥

———




MET23c | MW e | John Butlar

Clnapkft(‘_
¢ \7) G

945
Sa g ‘Og;

NERRTY
Y-
Cedeclode Areen, A= Ly L

Gnlh = Un —1.04S M
L Sralg

Neee= 1,0U5m xtipm = 6551 (2
o e

Find Reediend Ferre Fa)= Yol k

Yo= $Uzs xC.7m x (.5¢1 mR
Fa - gg.géig_‘_f\/_‘.i

Corves O?‘Pftggwc (Lp) =L~ %2
Lp=1.CYSn~C.54¥g :\—‘:ECI'{hi-'Lp
—
Selve Yo (np) = w- vz
P LU= CHEE = 098 Flp

) Gven
5G( Aeghal} >C.79 Ya=079x0.6( =775
L= &oin
Horizenfa Force
o YaAh  h=l5428) = G0 = (67¢ m
Fr= 775 x( QU ¢t Yl LGN
Fe=712.02% “m2
Yv = & X Velume of Béedien = 215 ¥ T (CA40NY |, 5240
fv=775C o
FA = R7RA = 267 M0

Efo: Sqleil X Yo =C.€(x .4l [w=(a.
ZC‘/ :évqgé =

_—

A

EYATL I
R
I =
\h9




1 #w - Toha Butle/

] 3930

Chgpte D -
. C() ¥Fir | gi= l.;gn =C./5M
\_ ) Lc = "gM :’-a*qy\
/ a T =
3 /L ML (o0 675
S S AT ;
e ¥ akagal cossty
LTS\@ [ Eazg\; —r. ) Va = .85.582.Ux19.8+3
2 \\\‘\\/g“(""‘

Nerns  we con Zelve Yor- /‘163_:[:_,(&40-47\;“
Vi

MK = ,.%26n _ (c.9-C. 758 B
’ 7.9~ JRB=CT7# |

ML <C.2 i\nz;refafc, Hee M & chure Lhe wetes,
hence Lhe lypad 15 Stable
———




£.3

e soesemes muy sow
5.8 Figure 5.19 shows a pump partially submerged in oil
(sg = 0.90) and supported by springs. If the total
weight of the pump is 14.6 Ib and the submerged volume
is 40 in’, calculate the supporting force cxerted by the

springs.
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5.24 A brass weight is to be attached to the bottom of the cyl-
inder described in Problems 5.22 and 5.23, so that the
cylinder will be completely submerged and neutrally
buoyant in water at 95°C. The brass is to be a cylin-
der with the same diamcter as the original cylinder
shown in Fig. 5.24. What is the required thickness of the

brass?
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FIGURE 5.24 Problems 5.24 and 5.25.
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